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Solving Trigonometric
Equations Using ldentities

Focus on...

» solving trigonometric equations algebraically using known identities

« determining exact solutions for trigonometric equations where possible

+ determining the general solution for trigonometric equations

+ identifying and correcting errors in a solution for a trigonometric equation



Examples:

Solve each equation algebraically over the domain indicated.
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(b) 2cosx +{1—-sin’ x)=3 0<x<27
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(d) cos2x = cos x all solutions (radians)
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(e) 3cosx+2=>5secx all solutions (radians)
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